
 
Nombre:________________________________  Fecha: _______ 

471 993 1928 6187  
x    9 x    3 x    6 x    4  
 
 
 

 

4997 6374 1727 5093  
x    8 x    9 x    7 x    9  
 
 
 

 

6522 6740 9104 4515  
x    8 x    8 x    6 x    8  
 
 
 

 

9957 3989 4846 1543  
x    3 x    4 x    1 x    0  
 
 
 



 

 

Soluciones
 

 Fila 1:

471 x 9 = 4239,  993 x 3 = 2979,  1928 x 6 = 11568, 6187 x 4 = 24748.

Fila 2:

4997 x 8 = 39976,  6374 x 9 = 57366,  1727 x 7 = 12089, 5093 x 9 = 45837.

Fila 3:

6522 x 8 = 52176,  6740 x 8 = 53920,  9104 x 6 = 54624, 4515 x 8 = 36120.

Fila 4:

9957 x 3 = 29871,  3989 x 4 = 15956,  4846 x 1 = 4846, 1543 x 0 = 0.


